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Due:  Thursday, December 5
	1.
	[image: image1.png]Use your chart from Part a of Applications Task 2 and the appropriate
form of the Addition Rule 1o answer these questions about a roll of
two tetrahedral dice.

a. What is the probability that you get a difference of 3 or you get a 2
on the first die?

b. What is the probability you get a difference of 2 or you get doubles?
€. What is the probability you get a difference of 0 or you get doubles?
. What is the probability you gel a difference of 0 or a sum of 67





	2.
	[image: image2.png]‘The Titanic was a British luxury ship that sank on its first voyage in
1912. It was en route from Southampton, England, to New York City.
‘The table below gives some information about the passengers on the
Titanic.

Passengers Aboard the Titanlc

Men Total
Survived | 138 492
Died 678 154 832

Total |8t 508 | 1324
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. Suppose a passenger s selected at random. Use the table above (0
find the probability of each of the following events.

‘The passenger is a man.

‘The passenger survived.

‘The passenger is a man and survived.

b. Now use your resulis from Part 2 and the
‘appropriate form of the Addition Rule to
find the probabiliy that a randomly
Selected passenger s 2 man or a SUIVIVOL.
‘Check your answer by adding the
‘appropriate enires in the table.

. Suppose a passenger s selected at
random. Find the probability of each of
the following evens.

‘The passenger s 2 woman/child.

‘The passenger died.
‘The passenger is a womany/child and died.

iv. The passenger is a woman/child or died.






